22 ¥

& BEAG A5 AAY A AL F4 g)7)

i,

dlo
BN
mY,

i

5

)Y

A, [ g wer 1)

7P glz) =

)
© 3 @ —

#2045

20. A% AA AelA PlEASH B4 f@)7} o

A 71t

—flz+1)+1 (-1<z<0)
f(x) (Oéxél)
() BE AF o Hsle] glz+2) =g(z) o]t

7
Q@ — @ 5 & —

djo
I
N

(7h 237 [0, 1] A4 f(z) ==z o]t}

() o® A4 a, bell Hste] 77 [0, o) el A

f(a:-l—l)—a‘:f(m) =azx+bo|t}.

60 x f 12 F@)de e e FEAL. [44]

ﬂ.(.

! 1
(\ﬁzﬂ)jx — iﬁw& ﬂ(aﬂ)j(

~)

I

&

T2 "
\SAOQ“ - ;ﬁ:)@l)jif _%"1__“
TH | g

+/

}‘am/a{ (0<4=1)

\

A1 (lex£z)

42 -3 (AA£3)

| [
1 —GEH25L— 301 s (3224 ) = £ iJG;,@( 1 i;j&/fr

10¢} = %

g(x) = x* —x+1

eql:x =1
eq2: x = 2

eq3: x =3

eqd :x =5

+ @ ®© ®© & & @ @ & o o

Input...

h(x) = X —4x2+7x-3 ¢
p(x) = x* —8x* 425 x* — 33 x-

q(x) = X —13x* +67 x> — 65

20fT
p eqi

18

16

22. 64

13. A AAS A3lA A" s f@)7F 732 0, 1] oA

P o<re Lo0- /3 (a€ Batod 44)

1 (z=1)

fz)=

oli, BE A gof et fz+1)=rf(x)F HFAZT}

| (2 4 )

glkxféﬁ) o ghe? [44]

@D 150 @ 160 ® 170 @ 180 ® 190

eq2

2.

30. HzAgel A4t 98l ARGE @)} e 2AL
HEA 70

o lim sin(7 X f(z)) —0
T

z—0

(W) f(=) o] Sz S53ke] 32 50|t

F5 g@)E 0=<2<19 9 g(2)=f(z)olZ ZE AF ol
ko] g(z+1) =g(z) |t

o@)7 A% A ATANA 949 A, [ agla)da = Lol

p+q2 e FIAL. (5 po} g AZEAQ] Ao} [44]

gt

! |
i"j@‘/”@ = S.@w ) gt jx

=Jféumk%ahz1 <;'6mlﬁzﬂ2*eb>

-3 4613 (457 + 12— | (4£x£85)

LT3
ps
%\

‘7\"\_13

S|
S
<




